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Given A[i--mj B[i-.r\l
M(n‘)J: :(/I/Clél/fﬂ?5 iD CL‘%‘SQ 47&1073

= J‘t[‘\'ﬂ: et distance Al L) 2.4 E[iﬂ

(i if j=0
j ifi=0
Edit(i, j) = {4 Edit(i—1,j)+1, del
min{ Edit(i,j—1)+1, "% otherwise
|| B DFERAL £ U - ep
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Ep1TDISTANCE(A[1..m],B[1..n]):
for j « Pton
Edit[0, j] — j Olmp) time

forie—1ltom
Edit[i,0] « i
forje—1ton
if Ali] = B[j]
Edit[i, j] « min {Edit[i — 1,j] + 1, Edit[i,j— 1]+ 1, Edit[i— 1, j — 1]}
else
Edit[i, j] « min {Edit[i — 1,j] + 1, Edit[i,j— 1]+ 1, Edit[i—1,j — 1]+ 1}

return Edit[m, n]
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Flc k)= ZF[E]

=4

C

INITF(f[1..n]):
forie—1ton
F[i,i—1]« 0
fork«—iton
Fli,k] « F[i,k—1]+ f[k]




thfast[tr-l\
ostli k)= Flok) s nav y |
Optlontleid= FLkd* 200 [ o detteon s

CompuTEOPTCOST(i, k): A
OptCost[i, k] « oo

forr—itok
tmp < OptCost[i,r — 1]+ OptCost[r + 1, k] O(")
if OptCost[i, k] > tmp
OptCost[i, k] « tmp {
OptCost[i, k] « OptCost[i, k] + F[i, k] d
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OpTIMALBST(f[1..n]):
INITF(f[1..n])
forie—1ton+1

ford —0ton—1
forie—1ton—d

return OptCost[1,n]

OptCost[i,i—1] « 0

CompuTEOPTCOST(i,i +d)

—k —=
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OpTIMALBST2(f[1..n]):

INITF(f[1..n])

fori < n+1 downto 1
OptCost[i,i —1] <« 0
forj—iton

return OptCost[1,n]

CompuTEOPTCOST(1, j)

OpTIMALBST3(f[1..n]):

INITF(f[1..n])
forje~0Oton+1
OptCost[j+1,j]« 0
for i « j downto 1
CompuTEOPTCOST(i, j)
return OptCost[1,n]




Mmo'(t@, Fm‘ko /U/\-e 'tree, ?-[_;f’/{-(‘\
eval T T)@St orde~

MAXIMUMINDSETSIZE(V):
withoutv « 0
for each child w of v
withoutv « withoutv + MAXIMUMINDSETSIZE(w)

withy « 1
for each grandchild x of v
withv « withv + x.MIS

v.MIS « max{withv, withoutv}
return v.MIS

MAXIMUMINDSETSIZE(V):
v.MISno « 0
v.MISyes « 1
for each child w of v
v.MISno « v.MISno + MAXIMUMINDSETSI1ZE(w)
v.MISyes « v.MISyes + w. MISno
return max{v. MISyes,v.MISno}




